Form 604

Corporations Act 2001 Section 671B

Notice of Change of Interests of Substantial Holder

To Company Name/Scheme	CENTENNIAL COAL COMPANY LIMITED (CEY)
ACN/ARSN	003 714 538

Name	Suncorp-Metway Limited and its subsidiaries
ACN/ARSN (if applicable)	010 831 722
There was a change in the inter of the substantial holder on	rests 25/05/09

of the substantial holder on	25/05/09
The previous notice was given to the company on	13/05/09
The previous notice was dated	08/05/09

2. Previous and present voting power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate had a relevant interest in when last required, and when now required, to give a substantial holding notice to the company or scheme, are as follows:

Class of securities	Previous notice		Present notice	
Ordinary shares	Person's votes Voting power		Person's votes	Voting power
	22,761,012	6.0919%	18,936,213	5.0682%

3. Changes in relevant interests

Particulars of each change in, or change in the nature of, a relevant interest of the substantial holder or an associate in voting securities of the company or scheme, since the substantial holder was last required to give a substantial holding notice to the company or scheme are as follows:

Date of change	Person whose relevant interest changed	Nature of change	Consideration given in relation to change	Class & number of securities affected	Person's votes affected
Cines	Suncorp Metway Investment Management Ltd				
Since previous notice	Tyndall Investment Management Ltd	Refer Anne		nexure 2	
	New Zealand Guardian Trust Company Ltd				

4. Present relevant interest

Particulars of each relevant interest of the substantial holder in voting securities after the change are as follows:

Holder of relevant interest	Registered holder of securities	Persons entitled to be registered as holder	Nature of relevant interest	Class & number of securities	Person's votes
Refer	Annexures 1 & 2				

5. Changes in association

The persons who have become associates of, ceased to be associates of, or have changed the nature of their association with, the substantial holder in relation to voting interests in the company or scheme are as follows:

Name and ACN/ARSN (if applicable)	Nature of association
Not Applicable	

6. Addresses

The addresses of persons named in this form are as follows:

Name	Address
Refer to A	nnexure 1

Signature

Print name	C. Chuter	Capacity	Company Secretary
Sign here		Date	27/05/2009

 $\sim O$

Annexure 1

Relevant Interest Holder	Registered Holder of Securities	Registration Details	Person's Votes
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD (AET)	SUNCORP CUSTODIAN SERVICES PTY LTD GPO BOX 5078, SYDNEY NSW 2001	509,520
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD (IPT)	SUNCORP CUSTODIAN SERVICES PTY LTD GPO BOX 5078, SYDNEY NSW 2001	55,428
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD	SUNCORP CUSTODIAN SERVICES PTY LTD GPO BOX 5078, SYDNEY NSW 2001	2,578
New Zealand Guardian Trust Company Ltd	NEW ZEALAND GUARDIAN TRUST COMPANY LTD KINGCOME TRUST	ANZ NOMINEES CUSTODIAN SERVICES MELBOURNE	1,486
New Zealand Guardian Trust Company Ltd	GILLINGHAM RICHARD STAFFORD EST	ANZ NOMINEES CUSTODIAN SERVICES MELBOURNE	27,433
New Zealand Guardian Trust Company Ltd	HUNTER JOHN S AGENCY	THE NEW ZEALAND GUARDIAN TRUST COMPANY LTD PO BOX 1934 AUCKLAND	18,500
Tyndall Investment Management Ltd	NSW BUSINESS CHAMBER LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C 13200-14 NDTYAE 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	203,408
Tyndall Investment Management Ltd	AMP CAPITAL INVESTORS	AMP CAPITAL INVESTORS LTD C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	2,824,69
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD ACF BTR	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C 9580-16 BTTYUT 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	38,003
Tyndall Investment Management Ltd	CATHOLIC SUPER FUND	CATHOLIC SUPER FUND C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	849,787

Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD IOOF INVESTMENT MANAGEMENT LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C IOOF INVESTMENT MANAGEMENT LTD A/C 16080-18 IMTYAE 5TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	800,338
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD ACF MERCER INVESTMENT NOMINEES LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C MERCER INVESTMENT NOMINEES LTD A/C 11120-12 WMTYAE 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	4,304,613
Tyndall Investment Management Ltd	OPTIMIX LTD	OPTIMIX LTD C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	1,703,984
Tyndall Investment Management Ltd	PUBLIC TRUSTEE AUSTRALIAN CAPITAL TERRITORY	TASMAN ASSET MANAGEMENT LIMITED A/C PUBLIC TRUSTEE AUSTRALIAN CAPITAL TERRITORY PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	97,705
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN CORE SHARE VALUE FUND	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN CORE SHARE VALUE FUND GPO BOX 5078 SYDNEY NSW 2001	682,852
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN SHARE INCOME FUND	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN SHARE INCOME FUND GPO BOX 5078 SYDNEY NSW 2001	86,009
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	5,006,273
Tyndall Investment Management Ltd	OPTIMIX INCOME STRATEGY	OPTIMIX INCOME STRATEGY C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	938,601

Tyndall Investment Management Ltd	WORKERS COMPENSATION NOMINAL INSURER	WORKERS COMPENSATION NOMINAL INSURER C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	669,593
Tyndall Investment Management Ltd	RAC INSURANCE	RAC INSURANCE PTY LTD GPO BOX 5078 SYDNEY NSW 2001	115,407

TOTAL UNITS

18,936,213

Annexure 2

PORTFOLIO	TRADE DATE	TRADE TYPE	NET AMOUNT	UNIT PRICE	UNITS				
AMP CAPITAL INVESTORS									
AMPC	11/05/2009	Sales	262826.33	2.2813	115505				
AMPC	13/05/2009	Sales	291928.05	2.1449	136453				
AMPC	19/05/2009	Sales	259454.18	2.1352	121825				
AMPC	20/05/2009	Sales	310667.45	2.1922	142079				
AMPC	21/05/2009	Sales	210555.35	2.1905	96369				
AMPC	22/05/2009	Sales	286242.51	2.09	137310				
AMPC	25/05/2009	Sales	206803.19	2.1132	98114				
TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO									
TASWP	11/05/2009	Sales	247965.34	2.2813	108974				
TASWP	13/05/2009	Sales	249088.63	2.1449	116429				
TASWP	15/05/2009	Sales	789921.98	1.93	409286				
TASWP	19/05/2009	Sales	216408.11	2.1352	101613				
TASWP	20/05/2009	Sales	269118.02	2.1922	123077				
TASWP	21/05/2009	Sales	114975.3	2.1905	52623				
TASWP	25/05/2009	Sales	109130.56	2.1132	51775				
CATHOLIC SUP	CATHOLIC SUPER RETIREMENT FUND								
CSRF	11/05/2009	Sales	37829.42	2.2813	16625				
CSRF	13/05/2009	Sales	39981.18	2.1449	18688				
CSRF	19/05/2009	Sales	35888.06	2.1352	16851				
CSRF	20/05/2009	Sales	51612.1	2.1922	23604				
CSRF	21/05/2009	Sales	19471.72	2.1905	8912				
CSRF	25/05/2009	Sales	20087.2	2.113201	9530				
ΟΡΤΙΜΙΧ									
OPTI	11/05/2009	Sales	73911.31	2.2813	32482				
OPTI	13/05/2009	Sales	75274.92	2.1449	35185				
OPTI	19/05/2009	Sales	67569.9	2.1352	31727				
ΟΡΤΙ	20/05/2009	Sales	87397.69	2.1922	39970				
OPTI	21/05/2009	Sales	38565.44	2.1905	17651				
ΟΡΤΙ	25/05/2009	Sales	34500.23	2.1132	16368				
IOOF INVESTMENT LTD									
IOOF	11/05/2009	Sales	35012.41	2.2813	15387				
IOOF	13/05/2009	Sales	35133.29	2.1449	16422				
IOOF	19/05/2009	Sales	31577.49	2.135201	14827				
IOOF	20/05/2009	Sales	41472.92	2.192201	18967				
IOOF	21/05/2009	Sales	18280.95	2.1905	8367				
IOOF	25/05/2009	Sales	17540.98	2.1132	8322				

13/05/2009 206693 MERI Sales 442199.76 2.1449 MERI 19/05/2009 Sales 394263.87 2.1352 185124 20/05/2009 MERI Sales 472734.77 2.1922 216198 21/05/2009 MERI Sales 320656.18 2.1905 146761 MERI 22/05/2009 Sales 439278.35 2.09 210721 25/05/2009 MERI Sales 316218.33 2.1132 150024 **NSW BUSINESS CHAMBER LTD** 11/05/2009 ABL Sales 9490.92 2.281299 4171 4706 ABL 13/05/2009 Sales 10068.04 2.1449 ABL 19/05/2009 Sales 9036.44 2.135202 4243 ABL 20/05/2009 Sales 11326.5 2.192201 5180 ABL 21/05/2009 Sales 4883.23 2.190501 2235 ABL 25/05/2009 Sales 5006 2.113204 2375 **OPTIMIX INCOME STRATEGY** TOPTI 11/05/2009 Sales 23011.69 2.2813 10113 TOPTI 13/05/2009 Sales 19049.26 2.144901 8904 TOPTI 19/05/2009 Sales 16999.5 2.1352 7982 TOPTI 20/05/2009 Sales 25519.61 2.1922 11671 TOPTI 21/05/2009 Sales 11180.07 2.1905 5117 **PUBLIC TRUSTEE OF ACT** PTACT 11/05/2009 Sales 5761.45 2.281299 2532 PTACT 13/05/2009 Sales 6345.47 2.144899 2966 PTACT 19/05/2009 Sales 5645.92 2.135202 2651 PTACT 20/05/2009 Sales 6870.24 2.192199 3142 **TYNDALL AUSTRALIAN CORE SHARE VALUE FUND** TACSVF 11/05/2009 Sales 13247.7 2.2813 5822 TACSVF 13/05/2009 Sales 505842.62 2.1445 236000 WORKERS COMPENSATION NOMINAL INSURER **WCNI** 11/05/2009 Sales 30076.95 2.2813 13218 **WCNI** 13/05/2009 Sales 31235.29 2.1449 14600 WCNI 19/05/2009 Sales 28020.85 2.1352 13157

MERCER INVESTMENT

11/05/2009

Sales

398593.57

35230.22

15217.74

15656.63

2.1922

2.1905

2.1132

2.2813

175171

MERI

20/05/2009

21/05/2009

25/05/2009

Sales

Sales

Sales

WCNI

WCNI

WCNI

16112

6965

7428